01 2 3 45

-2

-1 01 2 3 4 5

-2

E.Stuart

— o Kf.Ricker.a (AICc =14) + Ricker.resid (AICc = 134)
a Kf.Larkin.a (AICc =16) * Larkin.resid (AICc = 126)

1950 1960 1970 1980 1990 2000 2010

Bowron

= 0 Kf.Ricker.a (AICc =28) + Ricker.resid (AICc = 136)
a Kf.Larkin.a (AICc=32) = Larkin.resid (AICc = 140)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fennell

o Kf.Ricker.a (AICc=29) + Ricker.resid (AICc = 104)
a Kf.Larkin.a (AICc=32) x Larkin.resid (AICc = 94)

7 M

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

E.Stuart

o Kf.Ricker.a (AICc = 14) + S.scaled
a Kf.Larkin.a (AICc = 16)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Bowron

0 Kf.Ricker.a (AICc = 28) + S.scaled
a Kf.Larkin.a (AICc = 32)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fennell

o Kf.Ricker.a (AICc =29) + S.scaled
a Kf.Larkin.a (AICc = 32)

— +
! ! ! ! ! ! !

1950 1960 1970 1980 1990 2000 2010




-1

-2

-1 01 2 3 4 5

Gates

o Kf.Ricker.a (AlCc = 31)
a Kf.Larkin.a (AICc = 31)

+ Ricker.resid (AICc = 103)
x Larkin.resid (AICc = 90)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Nadina

O Kf.Ricker.a (AICc = 28) + Ricker.resid (AICc = 83)
— a Kf.Larkin.a (AICc =34) = Larkin.resid (AICc = 82)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Pitt

o Kf.Ricker.a (AlICc = 23)
a Kf.Larkin.a (AICc = 21)

+ Ricker.resid (AICc = 127)
* Larkin.resid (AICc = 123)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

2 3 4 5 6

1

-1 01 2 3 45 6

Gates

o Kf.Ricker.a (AICc = 31) + S.scaled
a Kf.Larkin.a (AICc = 31)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Nadina

— 0 Kf.Ricker.a (AICc = 28) + S.scaled
a Kf.Larkin.a (AICc = 34)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Pitt

— o Kf.Ricker.a (AlICc = 23) + S.scaled
a Kf.Larkin.a (AICc = 21)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



-1 01 2 3 45

-1 01 2 3 4

-2

Raft

o Kf.Ricker.a (AlICc = 36)
a Kf.Larkin.a (AICc = 37)

+ Ricker.resid (AICc = 133)
* Larkin.resid (AICc = 135)

_W

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Scotch

o Kf.Ricker.a (AlICc = 28)
= a Kf.Larkin.a (AICc = 25)

+ Ricker.resid (AICc = 101)
x Larkin.resid (AICc = 58)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Seymour

— o Kf.Ricker.a (AICc = 48)
a Kf.Larkin.a (AICc = 44)

+ Ricker.resid (AICc = 151)
x Larkin.resid (AICc = 139)

1950 1960 1970 1980 1990 2000 2010

0 1 2 3 4 5 6 -1 01 2 3 4 5 6

-1 01 2 3 4 5 6

Raft

— o Kf.Ricker.a (AICc = 36) + S.scaled
a Kf.Larkin.a (AICc = 37)
] ,,f i
W )

T T T T T T T
1950 1960 1970 1980 1990 2000 2010

Scotch

— o Kf.Ricker.a (AlICc = 28) + S.scaled
a Kf.Larkin.a (AICc = 25)

- - o h ‘%A L/
I I I I I I I
1950 1960 1970 1980 1990 2000 2010

Seymour

= o Kf.Ricker.a (AICc = 48) + S.scaled
a Kf.Larkin.a (AICc = 44)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Chilko

o Kf.Ricker.a (AICc=17) + Ricker.resid (AICc =118)
A Kflarkin.a (AlCc=11) x Larkin.resid (AICc = 112)

1950 1960 1970 1980 1990 2000 2010

L.Stuart

o Kf.Ricker.a (AICc=84) + Ricker.resid (AICc = 190)
a Kf.Larkin.a (AICc =86) * Larkin.resid (AICc = 183)

T N

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Quesnel

o Kf.Ricker.a (AICc=50) + Ricker.resid (AICc = 166)
— A Kf.lLarkin.a (AICc =45) % Larkin.resid (AICc = 141)

1950 1960 1970 1980 1990 2000 2010

Chilko

0 o Kf.Ricker.a (AICc = 17) + S.scaled
A Kf.Larkin.a (AICc = 11)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Stuart
o Kf.Ricker.a (AICc = 84) + S.scaled
© - a Kf.Larkin.a (AICc = 86)
< -
o w
o -
I I I I I I I
1950 1960 1970 1980 1990 2000 2010
Quesnel
o - o Kf.Ricker.a (AICc =50) + S.scaled

A Kf.Larkin.a (AICc = 45)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



-1 01 2 3 4

-2

-1

-2

Stellako

o Kf.Ricker.a (AICc =9) + Ricker.resid (AICc = 114)
— A Kf.Larkin.a (AICc = 5) x Larkin.resid (AICc = 100)

1950 1960 1970 1980 1990 2000 2010

Birkenhead

o Kf.Ricker.a (AICc=48) + Ricker.resid (AICc = 155)
a Kf.Larkin.a (AICc=47) = Larkin.resid (AICc = 153)

:%

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Cultus

0 Kf.Ricker.a (AICc=51) + Ricker.resid (AICc = 138)
a Kf.Larkin.a (AICc=58) = Larkin.resid (AICc = 142)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Stellako

o Kf.Ricker.a (AICc =9) + S.scaled
A Kf.Larkin.a (AICc = 5)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Birkenhead

o Kf.Ricker.a (AICc = 48) + S.scaled
a Kf.Larkin.a (AICc = 47)

‘M

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Cultus

0 Kf.Ricker.a (AICc = 51) + S.scaled
a Kf.Larkin.a (AICc = 58)

—%W

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



-1 01 2 3 4

-2

-1 01 2 3 4

-2

Harrison

0 Kf.Ricker.a (AlCc = 82)
a Kf.Larkin.a (AICc = 87)

+ Ricker.resid (AICc = 184)
* Larkin.resid (AICc = 187)

1950 1960 1970 1980 1990 2000 2010

L.Shuswap

|
b o

Kf.Ricker.a (AICc = 54)
Kf.Larkin.a (AICc = 51)

+ Ricker.resid (AICc = 151)
x Larkin.resid (AICc = 144)

1950 1960 1970 1980 1990 2000 2010

Portage

Kf.Ricker.a (AICc = 43)
a Kf.Larkin.a (AICc = 44)

+ Ricker.resid (AICc = 150)
x Larkin.resid (AICc = 114)

1950 1960 1970 1980 1990 2000 2010

Harrison

0 Kf.Ricker.a (AICc = 82) + S.scaled
a Kf.Larkin.a (AICc = 87)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Shuswap

o Kf.Ricker.a (AICc = 54) + S.scaled
a Kf.Larkin.a (AICc = 51)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Portage

o Kf.Ricker.a (AlICc = 43) + S.scaled
a Kf.Larkin.a (AICc = 44)

_FAA IV S TVEL

1950 1960 1970 1980 1990 2000 2010



Weaver
[Te]
o Kf.Ricker.a (AICc =34) + Ricker.resid (AICc = 105)
< - a Kf.Larkin.a (AICc =38) x Larkin.resid (AICc = 100)
o —
o~ -
- —
o —
C}I —
I I I I I I I
1950 1960 1970 1980 1990 2000 2010
Fraser 1950-2004 ag
o Kf.Ricker.a (AICc=-8) + Ricker.resid (AICc =101)
< A Kf.lLarkin.a (AICc =-13) x Larkin.resid (AICc = 84)
o~ —
- —
o -
\—I| —
(\Il —
I I I I I I I
1950 1960 1970 1980 1990 2000 2010
Fraser full 1950-2004 ag
o Kf.Ricker.a (AICc=-4) + Ricker.resid (AICc = 108)
N A Kf.Larkin.a (AICc =-10) x Larkin.resid (AICc = 86)
- —
o —
r|| —
('}I —

1950 1960 1970 1980 1990 2000 2010

2 3 4 5 6

1

-1 0

-1 01 2 3 45 6

Weaver

o Kf.Ricker.a (AICc = 34) + S.scaled
= a Kf.Larkin.a (AICc = 38)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser 1950-2004 ag

o Kf.Ricker.a (AICc =-8) + S.scaled
A Kf.Larkin.a (AICc = -13)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser full 1950-2004 ag

— o Kf.Ricker.a (AICc =-4) + S.scaled
A Kf.Larkin.a (AICc = -10)

AAAAA,

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Fraser 1970-2004 ag

< - o Kf.Ricker.a (AICc =-2) + Ricker.resid (AICc = 69)
a Kf.Larkin.a (AICc =-6) * Larkin.resid (AICc = 48)
™ - %
o ——"\
- —
o —
-
(\II —
I I I I I I I
1950 1960 1970 1980 1990 2000 2010
Fraser Early Summer ag
o Kf.Ricker.a (AICc = 8) + Ricker.resid (AICc = 107)
] A Kf.Larkin.a (AICc = 3) x Larkin.resid (AICc = 97)
o —
o~ 4 soese
- —
o -
-
o
I I I I I I I
1950 1960 1970 1980 1990 2000 2010
Fraser Summer ag
o Kf.Ricker.a (AICc=-4) + Ricker.resid (AICc = 109)
< A A Kf.Larkin.a (AICc = -9) x Larkin.resid (AICc = 88)
o~ -
- —
o -
FI| —
o

1950 1960 1970 1980 1990 2000 2010

Fraser 1970-2004 ag

o Kf.Ricker.a (AICc =-2) + S.scaled
a Kf.Larkin.a (AICc = -6)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Early Summer ag

o Kf.Ricker.a (AICc = 8) + S.scaled
I A Kf.Larkin.a (AICc = 3)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Summer ag

o Kf.Ricker.a (AICc =-4) + S.scaled
A Kf.Larkin.a (AICc = -9)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



-1 01 2 3 4

-2

-1 0 1 2 3 4

-2

Fraser Late ag

o Kf.Ricker.a (AlICc = 35)
A Kf.Larkin.a (AICc = 29)

+ Ricker.resid (AICc = 140)
x Larkin.resid (AICc = 126)

1950 1960 1970 1980 1990 2000 2010

Fraser total 1950-2004

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
— a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

1950 1960 1970 1980 1990 2000 2010

Fraser full total 1950-2004

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

1950 1960 1970 1980 1990 2000 2010

2 3 4 5

1

-1 0

2 3 4 5

1

-1 0

Fraser Late ag

o Kf.Ricker.a (AICc = 35) + S.scaled
-] A Kf.Larkin.a (AICc = 29)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser total 1950-2004

O Kf.Ricker.a (AICc = NA) + S.scaled
— a Kf.Larkin.a (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser full total 1950-2004

0 Kf.Ricker.a (AICc = NA) + S.scaled
— a Kf.Larkin.a (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



1 2 3 4

-1 0

-2

-1 01 2 3 4 5

-2

-1 01 2 3 4 5

-2

Fraser total 1970-2004

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
= a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Early Summer total 1950-2004

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Summer total 1950-2004

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

1950 1960 1970 1980 1990 2000 2010

Fraser total 1970-2004

O Kf.Ricker.a (AICc = NA) + S.scaled
a Kf.Larkin.a (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Early Summer total 1950-2004

O Kf.Ricker.a (AICc = NA) + S.scaled
a Kf.Larkin.a (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Summer total 1950-2004

0 Kf.Ricker.a (AICc = NA) + S.scaled
a Kf.Larkin.a (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



-1 01 2 3 4 5

-2

-1 01 2 3 4 5

-2

Fraser Late total 1950-2004

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
— a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Early Summer total 1970-2004

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Summer total 1970-2004

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Late total 1950-2004

O Kf.Ricker.a (AICc = NA) + S.scaled
— a Kf.Larkin.a (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Early Summer total 1970-2004

O Kf.Ricker.a (AICc = NA) + S.scaled
a Kf.Larkin.a (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Fraser Summer total 1970-2004

0 Kf.Ricker.a (AICc = NA) + S.scaled
a Kf.Larkin.a (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



-1 0 1 2 3

-2

-3

Fraser Late total 1970-2004

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
— a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Washington

— 0 Kf.Ricker.a (AlCc = 37)
a Kf.Larkin.a (AICc = 42)

+ Ricker.resid (AICc = 109)
* Larkin.resid (AICc = 108)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Great Central

0 Kf.Ricker.a (AICc = 23) + Ricker.resid (AICc = 68)
a Kf.Larkin.a (AICc =28) x Larkin.resid (AICc = 63)

T T T T T T T
1950 1960 1970 1980 1990 2000

-1 01 2 3 4 5

Fraser Late total 1970-2004

O Kf.Ricker.a (AICc = NA) + S.scaled
a Kf.Larkin.a (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Washington

0 Kf.Ricker.a (AICc = 37) + S.scaled
a Kf.Larkin.a (AICc = 42)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Great Central

— 0 Kf.Ricker.a (AICc = 23) + S.scaled
a Kf.Larkin.a (AICc = 28)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Sproat

o Kf.Ricker.a (AICc = 20) + Ricker.resid (AICc = 63)
a Kf.Larkin.a (AICc =24) x Larkin.resid (AICc = 59)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Long Lake

o Kf.Ricker.a (AICc =45) + Ricker.resid (AICc = 126)
— a Kf.Larkin.a (AICc=47) = Larkin.resid (AICc = 123)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Owikeno Lake

— o Kf.Ricker.a (AICc=47) + Ricker.resid (AICc = 121)
a Kf.Larkin.a (AICc=52) = Larkin.resid (AICc = 118)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Sproat

— o Kf.Ricker.a (AICc = 20) + S.scaled
a Kf.Larkin.a (AICc = 24)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Long Lake

o Kf.Ricker.a (AlICc = 45) + S.scaled
— a Kf.Larkin.a (AICc = 47)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Owikeno Lake

0 Kf.Ricker.a (AICc = 47) + S.scaled
a Kf.Larkin.a (AICc = 52)

! !
1950 1960 1970 1980 1990 2000 2010



2 -1

-3

Atnarko

o Kf.Ricker.a (AICc =-4) + Ricker.resid (AICc = 84)
a Kf.Larkin.a (AICc=-2) = Larkin.resid (AICc = 81)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Skeena

O Kf.Ricker.a (AICc =31) + Ricker.resid (AICc = 91)
a Kf.Larkin.a (AICc=39) = Larkin.resid (AICc = 93)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Nass

O Kf.Ricker.a (AICc=0) + Ricker.resid (AICc = 41)
— a Kf.Larkin.a (AICc =12) = Larkin.resid (AICc = 44)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Atnarko

o Kf.Ricker.a (AICc =-4) + S.scaled
— a Kf.Larkin.a (AICc = -2)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Skeena

0 Kf.Ricker.a (AICc = 31) + S.scaled
— a Kf.Larkin.a (AICc = 39)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Nass

O Kf.Ricker.a (AICc=0) + S.scaled
— a Kf.Larkin.a (AICc = 12)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



McDonald

O Kf.Ricker.a (AICc =12) + Ricker.resid (AICc = 48)
a Kf.Larkin.a (AICc=20) = Larkin.resid (AICc = 51)

M

!
1950 1960 1970 1980 1990 2000 2010

Redoubt

0 Kf.Ricker.a (AICc = 24) + Ricker.resid (AlICc = 51)
a Kf.Larkin.a (AICc =44) = Larkin.resid (AICc = 57)

iy

! !
1950 1960 1970 1980 1990 2000 2010

Speel

— O Kf.Ricker.a (AICc =21) + Ricker.resid (AICc = 46)
a Kf.Larkin.a (AICc =42) = Larkin.resid (AICc = 43)

GS5265550006880
A Rv;

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

McDonald

0 Kf.Ricker.a (AICc = 12) + S.scaled
a Kf.Larkin.a (AICc = 20)

i

!
1950 1960 1970 1980 1990 2000 2010

Redoubt

0 Kf.Ricker.a (AICc = 24) + S.scaled
— a Kf.Larkin.a (AICc = 44)

2

! !
1950 1960 1970 1980 1990 2000 2010

Speel

— 0 Kf.Ricker.a (AICc = 21) + S.scaled
a Kf.Larkin.a (AICc = 42)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Chilkoot

0 Kf.Ricker.a (AICc = 20) + Ricker.resid (AICc = 80)
a Kf.Larkin.a (AICc =27) = Larkin.resid (AICc = 81)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chilkat

O Kf.Ricker.a (AICc =5) + Ricker.resid (AICc = 51)
a Kf.Larkin.a (AICc =12) x Larkin.resid (AICc = 44)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Klukshu

O Kf.Ricker.a (AICc=7) + Ricker.resid (AICc = 61)
a Kf.Larkin.a (AICc =14) = Larkin.resid (AICc = 60)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chilkoot

0 Kf.Ricker.a (AICc = 20) + S.scaled
a Kf.Larkin.a (AlICc = 27)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chilkat

— O Kf.Ricker.a (AICc =5) + S.scaled
a Kf.Larkin.a (AICc = 12)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Klukshu

O Kf.Ricker.a (AICc=7) + S.scaled
— a Kf.Larkin.a (AICc = 14)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



10 15

0.5

0.0

-1

-2

East Alsek

0 Kf.Ricker.a (AlICc = 1)
a Kf.Larkin.a (AICc = 9)

+ Ricker.resid (AICc = 57)
* Larkin.resid (AICc = 60)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Alsek

o Kf.Ricker.a (AICc = -36) + Ricker.resid (AICc = 7)
a Kf.Larkin.a (AICc =-29) = Larkin.resid (AlCc = 13)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Italio

O Kf.Ricker.a (AICc =3) + Ricker.resid (AICc = 74)
a Kf.Larkin.a (AICc =10) = Larkin.resid (AICc = 72)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

1 2 3

-1 0

East Alsek

O Kf.Ricker.a (AICc=1) + S.scaled
= a Kf.Larkin.a (AICc = 9)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Alsek

O Kf.Ricker.a (AICc =-36) + S.scaled
a Kf.Larkin.a (AICc = -29)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Italio

O Kf.Ricker.a (AICc =3) + S.scaled
a Kf.Larkin.a (AICc = 10)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



05 1.0 15 20

-0.5

Situk

— 0 Kf.Ricker.a (AICc =-8) + Ricker.resid (AICc = 21)
a Kf.Larkin.a (AICc = 3)

* Larkin.resid (AICc = 30)

1950 1960 1970 1980 1990 2000 2010

Copper

O Kf.Ricker.a (AICc = -41) + Ricker.resid (AICc = 49)
a Kf.Larkin.a (AICc =-36) = Larkin.resid (AlICc = 50)

1950 1960 1970 1980 1990 2000 2010

Coghill

0 Kf.Ricker.a (AlCc = 44)
a Kf.Larkin.a (AICc = 50)

+ Ricker.resid (AICc = 113)
* Larkin.resid (AICc = 110)

1950 1960 1970 1980 1990 2000 2010

-2

Situk

0 Kf.Ricker.a (AICc = -8) + S.scaled
a Kf.Larkin.a (AICc = 3)

1950

! ! ! ! ! !
1960 1970 1980 1990 2000 2010

Copper

O Kf.Ricker.a (AICc =-41) + S.scaled
a Kf.Larkin.a (AICc = -36)

! ! ! ! ! !
1960 1970 1980 1990 2000 2010

Coghill

O Kf.Ricker.a (AICc = 44) + S.scaled
a Kf.Larkin.a (AICc = 50)

! ! ! ! ! !
1960 1970 1980 1990 2000 2010



Eshamy

o Kf.Ricker.a (AICc =17) + Ricker.resid (AICc = 64)
a Kf.Larkin.a (AICc =16) X Larkin.resid (AlICc = 50)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Kenai

O Kf.Ricker.a (AICc =4) + Ricker.resid (AICc = 64)
a Kf.Larkin.a (AICc =10) = Larkin.resid (AICc = 68)

l N A

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Kasilof

— O Kf.Ricker.a (AICc = -42) + Ricker.resid (AICc = 42)
a Kf.Larkin.a (AICc =-37) x Larkin.resid (AICc = 32)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Eshamy

o Kf.Ricker.a (AICc =17) + S.scaled
a Kf.Larkin.a (AICc = 16)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Kenai

O Kf.Ricker.a (AICc =4) + S.scaled
— a Kf.Larkin.a (AICc = 10)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Kasilof

o Kf.Ricker.a (AICc =-42) + S.scaled
] a Kf.Larkin.a (AlCc = -37)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



-1

-2

Crescent

0 Kf.Ricker.a (AICc =-16) + Ricker.resid (AICc = 33)
a Kf.Larkin.a (AICc =-8) x Larkin.resid (AlCc = 27)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Frazer

O Kf.Ricker.a (AICc =37) + Ricker.resid (AICc = 104)
a Kf.Larkin.a (AICc=44) = Larkin.resid (AICc = 104)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Ayakulik

0 Kf.Ricker.a (AICc =13) + Ricker.resid (AICc = 80)
a Kf.Larkin.a (AICc =18) = Larkin.resid (AICc = 80)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Crescent

O Kf.Ricker.a (AICc =-16) + S.scaled
a Kf.Larkin.a (AlCc = -8)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Frazer

0 Kf.Ricker.a (AICc = 37) + S.scaled
a Kf.Larkin.a (AICc = 44)

i ”\%

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Ayakulik

0 Kf.Ricker.a (AICc = 13) + S.scaled
a Kf.Larkin.a (AICc = 18)

1950 1960 1970 1980 1990 2000 2010



1.0 2.0

0.0

-1.0

E.Upper Station

o Kf.Ricker.a (AICc =17) + Ricker.resid (AICc = 81)
a Kf.Larkin.a (AICc =19) x Larkin.resid (AICc = 73)

l x

= 1 () %,

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Upper Station

O Kf.Ricker.a (AICc =-2) + Ricker.resid (AICc = 69)
— a Kf.Larkin.a (AICc=4) = Larkin.resid (AICc = 67)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Afognak

O Kf.Ricker.a (AICc =12) + Ricker.resid (AICc = 65)
— a Kf.Larkin.a (AICc=21) = Larkin.resid (AICc = 61)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

E.Upper Station

o Kf.Ricker.a (AICc =17) + S.scaled
a Kf.Larkin.a (AICc = 19)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Upper Station

O Kf.Ricker.a (AICc = -2) + S.scaled
— a Kf.Larkin.a (AlICc = 4)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Afognak

0 Kf.Ricker.a (AICc = 12) + S.scaled
= a Kf.Larkin.a (AICc = 21)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



25

15

0.5

-0.5

E.Karluk

o Kf.Ricker.a (AICc =-4) + Ricker.resid (AICc = 26)
= a Kf.Larkin.a (AICc=-3) = Larkin.resid (AICc = 29)

L

! !
1950 1960 1970 1980 1990 2000 2010

L.Karluk

o Kf.Ricker.a (AICc =-6) + Ricker.resid (AICc = 34)
a Kf.Larkin.a (AICc =-4) % Larkin.resid (AICc = 23)

S

! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Kodiak ag

O Kf.Ricker.a (AICc =-5) + Ricker.resid (AICc = 50)
a Kf.Larkin.a (AICc=1) = Larkin.resid (AICc = 54)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

-1

-2

E.Karluk

— o Kf.Ricker.a (AICc =-4) + S.scaled
a Kf.Larkin.a (AICc = -3)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Karluk

— o Kf.Ricker.a (AICc =-6) + S.scaled
a Kf.Larkin.a (AICc = -4)

N i W

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Kodiak ag

0 Kf.Ricker.a (AICc =-5) + S.scaled
a Kf.Larkin.a (AICc = 1)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Kodiak total

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Black

O Kf.Ricker.a (AICc = 4) + Ricker.resid (AICc = 94)
a Kf.Larkin.a (AICc=10) = Larkin.resid (AICc = 100)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chignik

0 Kf.Ricker.a (AICc = -33) + Ricker.resid (AICc = 71)
] a Kf.Larkin.a (AICc =-27) = Larkin.resid (AICc = 75)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

] a Kf.Larkin.a (AICc = NA)

— O Kf.Ricker.a (AICc =4) + S.scaled

] a Kf.Larkin.a (AlCc = -27)

Kodiak total

O Kf.Ricker.a (AICc = NA) + S.scaled

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Black

a Kf.Larkin.a (AICc = 10)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chignik

O Kf.Ricker.a (AICc =-33) + S.scaled

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Chignik.combined

O Kf.Ricker.a (AICc = -43) + Ricker.resid (AICc = 54)
a Kf.Larkin.a (AICc =-37) = Larkin.resid (AlICc = 57)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Nelson

0 Kf.Ricker.a (AICc = -15) + Ricker.resid (AICc = 21)
a Kf.Larkin.a (AICc=-8) = Larkin.resid (AlICc = 18)

I Fan el

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Bear

0 Kf.Ricker.a (AICc =10) + Ricker.resid (AICc = 50)
a Kf.Larkin.a (AICc =18) = Larkin.resid (AICc = 52)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

2.0

1.0

0.0

-1.0

-1 01 2 3 45

Chignik.combined

O Kf.Ricker.a (AICc =-43) + S.scaled
a Kf.Larkin.a (AlCc = -37)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Nelson

O Kf.Ricker.a (AICc =-15) + S.scaled
a Kf.Larkin.a (AlICc = -8)

-

! !
1950 1960 1970 1980 1990 2000 2010

Bear

O Kf.Ricker.a (AICc = 10) + S.scaled
= a Kf.Larkin.a (AICc = 18)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



0

-2

Ugashik

o Kf.Ricker.a (AlICc = 24)
a Kf.Larkin.a (AICc = 23)

+ Ricker.resid (AICc = 143)
* Larkin.resid (AICc = 141)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Egegik

= o Kf.Ricker.a (AICc = -1)
a Kf.Larkin.a (AICc = 2)

+ Ricker.resid (AICc = 110)
* Larkin.resid (AICc = 112)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Naknek

o Kf.Ricker.a (AICc =-3) + Ricker.resid (AICc = 82)
a Kf.Larkin.a (AICc=-2) = Larkin.resid (AICc = 83)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

3

g

-1 0 2

-2

2 3 4 5

3

1

-1 0

Ugashik

o Kf.Ricker.a (AICc = 24) + S.scaled
a Kf.Larkin.a (AICc = 23)

-

! !
1950 1960 1970 1980 1990 2000 2010

Egegik

o Kf.Ricker.a (AICc =-1) + S.scaled
— a Kf.Larkin.a (AICc = 2)

! !
1950 1960 1970 1980 1990 2000 2010

Naknek

o Kf.Ricker.a (AICc =-3) + S.scaled
a Kf.Larkin.a (AICc = -2)

! !
1950 1960 1970 1980 1990 2000 2010



-1

-2

Alagnak

o Kf.Ricker.a (AlCc = 27)
a Kf.Larkin.a (AICc = 34)

+ Ricker.resid (AICc = 129)
* Larkin.resid (AICc = 127)

1950 1960 1970 1980 1990 2000 2010

Kvichak

o Kf.Ricker.a (AlICc = 31)
a Kf.Larkin.a (AICc = 29)

+ Ricker.resid (AICc = 129)
x Larkin.resid (AICc = 118)

1950 1960 1970 1980 1990 2000 2010

Nushagak

= 0 Kf.Ricker.a (AICc =-7) + Ricker.resid (AlICc = 37)
a Kf.Larkin.a (AICc=3) = Larkin.resid (AICc = 42)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

2 3 4 5 6

Alagnak

0 Kf.Ricker.a (AICc = 27) + S.scaled
— a Kf.Larkin.a (AICc = 34)

1950 1960 1970 1980 1990 2000 2010

Kvichak

o Kf.Ricker.a (AICc = 31) + S.scaled
a Kf.Larkin.a (AICc = 29)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Nushagak

] 0 Kf.Ricker.a (AICc =-7) + S.scaled
a Kf.Larkin.a (AICc = 3)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Wood

— O Kf.Ricker.a (AICc = -24) + Ricker.resid (AICc = 83)
a Kf.Larkin.a (AICc =-18) = Larkin.resid (AICc = 84)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Igushik

0 Kf.Ricker.a (AlCc = 33)
a Kf.Larkin.a (AICc = 38)

+ Ricker.resid (AICc = 134)
x Larkin.resid (AICc = 126)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Togiak

— 0 Kf.Ricker.a (AICc =-4) + Ricker.resid (AICc = 81)
a Kf.Larkin.a (AICc=3) = Larkin.resid (AICc = 85)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

-1 01 2 3 45

-2

Wood

O Kf.Ricker.a (AICc =-24) + S.scaled
a Kf.Larkin.a (AICc = -18)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Igushik

0 Kf.Ricker.a (AICc = 33) + S.scaled
a Kf.Larkin.a (AICc = 38)

1950 1960 1970 1980 1990 2000 2010

Togiak

— O Kf.Ricker.a (AICc = -4) + S.scaled
a Kf.Larkin.a (AICc = 3)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Bristol Bay ag

o Kf.Ricker.a (AlICc = -20) + Ricker.resid (AICc = 81)
— a Kf.Larkin.a (AICc =-21) = Larkin.resid (AICc = 82)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Bristol Bay total

o Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = NA)
— a Kf.Larkin.a (AICc = NA) x Larkin.resid (AICc = NA)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Goodnews

] 0 Kf.Ricker.a (AICc =-1) + Ricker.resid (AlICc = 27)
a Kf.Larkin.a (AICc=9) = Larkin.resid (AICc = 33)

i ™
- A

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Bristol Bay ag

o Kf.Ricker.a (AICc =-20) + S.scaled
a Kf.Larkin.a (AICc = -21)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Bristol Bay total

O Kf.Ricker.a (AICc = NA) + S.scaled
a Kf.Larkin.a (AICc = NA)

1950 1960 1970 1980 1990 2000 2010

Goodnews

— O Kf.Ricker.a (AICc =-1) + S.scaled
a Kf.Larkin.a (AICc = 9)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



10

E.Stuart.fry.S.to.J

0 Kf.Ricker.a (AICc =-10) + Ricker.resid (AICc = 21)
a Kf.Larkin.a (AICc=4) = Larkin.resid (AICc = 21)

- e

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

E.Stuart.fry.J.to.R

O Kf.Ricker.a (AICc =10) + Ricker.resid (AICc = 58)
a Kf.Larkin.a (AICc =20) X Larkin.resid (AICc = 37)

: e

Geogataataggooco
I I I I I I I

1950 1960 1970 1980 1990 2000 2010

Gates.fry.S.to.J

o Kf.Ricker.a (AlICc = -31) + Ricker.resid (AICc = 56)
a Kf.Larkin.a (AICc =-27) * Larkin.resid (AICc = 45)

costtES0EEEE0422882000000 0000000000

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

4 2 0

-6

10

E.Stuart.fry.S.to.J

O Kf.Ricker.a (AICc =-10) + S.scaled
a Kf.Larkin.a (AICc = 4)

- e

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

E.Stuart.fry.J.to.R

— 0 Kf.Ricker.a (AICc = 10) + S.scaled
a Kf.Larkin.a (AICc = 20)

CooRaaaMteaagED
I I I I I I I

1950 1960 1970 1980 1990 2000 2010

Gates.fry.S.to.J

o Kf.Ricker.a (AICc =-31) + S.scaled
a Kf.Larkin.a (AlCc = -27)

cocdtESSEEEE042850000 0000000000000

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Gates.fry.J.to.R

+ Ricker.resid (AICc = 194)
x Larkin.resid (AICc = 181)

O Kf.Ricker.a (AlCc = 33)
a Kf.Larkin.a (AICc = 39)

— Addda,

8958888500

~S0as0

1950 1960 1970 1980 1990 2000 2010

Nadina.fry.S.to.J

0 Kf.Ricker.a (AICc = -3)
a Kf.Larkin.a (AICc = 3)

+ Ricker.resid (AICc = 97)
* Larkin.resid (AICc = 97)

1950 1960 1970 1980 1990 2000 2010

Nadina.fry.J.to.R

o Kf.Ricker.a (AlICc = 25)
a Kf.Larkin.a (AICc = 27)

+ Ricker.resid (AICc = 153)
x Larkin.resid (AICc = 135)

1950 1960 1970 1980 1990 2000 2010

-4

Gates.fry.J.to.R

— 0 Kf.Ricker.a (AICc = 33) + S.scaled
a Kf.Larkin.a (AICc = 39)

5600

1950 1960 1970 1980 1990 2000 2010

Nadina.fry.S.to.J

0 Kf.Ricker.a (AICc = -3) + S.scaled
a Kf.Larkin.a (AICc = 3)

sl

!
1950 1960 1970 1980 1990 2000

Nadina.fry.J.to.R

2010

o Kf.Ricker.a (AlICc = 25) + S.scaled
a Kf.Larkin.a (AlICc = 27)

s

mwtﬂ”“\‘.w
I I I

1950 1960 1970 1980 1990 2000 2010



Stellako.fry.S.to.J

O Kf.Ricker.a (AICc=2) + Ricker.resid (AICc = 24)
— a Kf.Larkin.a (AICc =35) X Larkin.resid (AICc = 3)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Stellako.fry.J.to.R

O Kf.Ricker.a (AICc =11) + Ricker.resid (AICc = 59)
a Kf.Larkin.a (AICc =54) x Larkin.resid (AICc = 54)

| ey
™

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Quesnel.fry.S.to.J

o Kf.Ricker.a (AICc =17) + Ricker.resid (AICc = 86)
a Kf.Larkin.a (AICc =21) x Larkin.resid (AICc = 79)

o RSN
e )

: /

g sl

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

4 -2

-6

— a Kf.Larkin.a (AICc = 35)

' ™

— a Kf.Larkin.a (AICc = 21)

Stellako.fry.S.to.J

O Kf.Ricker.a (AICc=2) + S.scaled

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Stellako.fry.J.to.R

O Kf.Ricker.a (AICc = 11) + S.scaled
a Kf.Larkin.a (AICc = 54)

! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Quesnel.fry.S.to.J

o Kf.Ricker.a (AICc =17) + S.scaled

o RSN
e ==

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



Quesnel.fry.J.to.R

o Kf.Ricker.a (AlCc = Inf) + Ricker.resid (AICc = 112)
A Kf.Larkin.a (AICc =-87)  x Larkin.resid (AICc = -665)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chilko.smolts.t2.S.to.J

o Kf.Ricker.a (AICc =-35) + Ricker.resid (AICc = 126)
A Kf.lLarkin.a (AICc =-41) x Larkin.resid (AICc = 112)

1950 1960 1970 1980 1990 2000 2010

Chilko.smolts.t2.J.to.R

o Kf.Ricker.a (AICc = 4) + Ricker.resid (AICc = 204)
a Kf.Larkin.a (AICc = 1) x Larkin.resid (AICc = 171)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Quesnel.fry.J.to.R

o Kf.Ricker.a (AICc = Inf) + S.scaled
A Kf.Larkin.a (AICc = -87)

\

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chilko.smolts.t2.S.to.J

o Kf.Ricker.a (AICc =-35) + S.scaled
A Kf.Larkin.a (AlCc = -41)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chilko.smolts.t2.J.to.R

o Kf.Ricker.a (AICc = 4) + S.scaled
a Kf.Larkin.a (AICc = 1)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010




Chilko.smolts.t3.S.to.J

= 0 Kf.Ricker.a (AICc=39) + Ricker.resid (AICc = 280)
a Kf.Larkin.a (AICc =44) % Larkin.resid (AICc = 268)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chilko.smolts.t3.J.to.R

o Kf.Ricker.a (AICc =44) + Ricker.resid (AICc = 284)
a Kf.larkin.a (AICc =41) % Larkin.resid (AICc = 233)

1950 1960 1970 1980 1990 2000 2010

Chilko.smolts.S.to.J

o Kf.Ricker.a (AICc =-37) + Ricker.resid (AICc =117)
A Kf.Larkin.a (AICc =-44) x Larkin.resid (AICc = 98)

1950 1960 1970 1980 1990 2000 2010

Chilko.smolts.t3.S.to.J

0 Kf.Ricker.a (AICc = 39) + S.scaled
a Kf.Larkin.a (AICc = 44)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chilko.smolts.t3.J.to.R

— o Kf.Ricker.a (AICc = 44) + S.scaled
a Kf.Larkin.a (AICc = 41)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Chilko.smolts.S.to.J

o Kf.Ricker.a (AICc = -37) + S.scaled
A Kf.Larkin.a (AlCc = -44)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



2 -1 0

-3

Chilko.smolts.J.to.R

o Kf.Ricker.a (AICc = 4)
a Kf.Larkin.a (AICc = 2)

+ Ricker.resid (AICc = 200)
x Larkin.resid (AICc = 166)

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Shuswap.fry.S.to.J

O Kf.Ricker.a (AICc =4) + Ricker.resid (AICc = 59)
a Kf.Larkin.a (AICc =13) = Larkin.resid (AlICc = 58)

wﬁﬁﬂ\‘*‘a

vz
- + “&‘ 1\:*
*
| | | | | | |
1950 1960 1970 1980 1990 2000 2010

L.Shuswap.fry.J.to.R

0 Kf.Ricker.a (AICc = NA) + Ricker.resid (AICc = 76)

+

] &&#X r

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

2 -1 0

-3

Chilko.smolts.J.to.R

o Kf.Ricker.a (AICc = 4) + S.scaled
a Kf.Larkin.a (AlCc = 2)

s

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Shuswap.fry.S.to.J

O Kf.Ricker.a (AICc =4) + S.scaled
a Kf.Larkin.a (AICc = 13)

w**ﬂxmvﬁﬁ

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Shuswap.fry.J.to.R

0 Kf.Ricker.a (AICc = NA) + S.scaled

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010



10

Cultus.smolts.S.to.J

o Kf.Ricker.a (AlICc = 11)
a Kf.Larkin.a (AICc = 17)

+ Ricker.resid (AICc = 110)
x Larkin.resid (AICc = 104)

LWyt

1950 1960 1970 1980 1990 2000 2010

Cultus.smolts.J.to.R

O Kf.Ricker.a (AlCc = 16)
a Kf.Larkin.a (AICc = 31)
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a Kf.Larkin.a (AICc =18) = Larkin.resid (AICc = 45)
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a Kf.Larkin.a (AICc=29) = Larkin.resid (AICc = 77)

.

B e e oo

N M[\M*‘Xw

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

Seymour.off

= o Kf.Ricker.a (AICc =17) + Ricker.resid (AICc = 64)
a Kf.Larkin.a (AICc=19) = Larkin.resid (AICc = 66)

%

g7 Vi

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Stuart.cl

0 Kf.Ricker.a (AICc = 15) + Ricker.resid (AlICc = 40)
a Kf.Larkin.a (AICc=19) = Larkin.resid (AICc = 48)
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0 Kf.Ricker.a (AICc = 15) + Ricker.resid (AlICc = 38)
a Kf.Larkin.a (AICc=19) = Larkin.resid (AICc = 47)

_\/‘\/m

+
x
— % +
+ x
*

x+
o
«

+

“+

! ! ! ! ! ! !
1950 1960 1970 1980 1990 2000 2010

L.Stuart.subdom
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